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	Assignment No. 01 Solution
SEMESTER FALL 2011
CS607- Artificial Intelligence
	Total Marks: 20


	

	
	Marks: 20  

	Question # 1 Answer: [3 marks]
According to Dynamic programming we should choose path G A B. It is because this path has minimum cost.    
Question # 2 Answer: [5 marks]
There is no search strategy that fall into category of heuristically informed search and that guarantees to always find out a solution. It is because heuristics do help us to reduce the search space, and when the search space reduces then there is a chance that we may miss out our desired solution. 
Question # 3 Answer: [5 marks]  
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Question # 4 Answer: [7 marks]
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